
 

 

A. Choose the correct answer: 

1. What is the total of 2 kg 500 g and 1 kg 250 g 

 a. 3 kg 650 g   b. 4 kg 750 g 

 c. 3 kg 750 g   d. 4 kg 

2. Subtract 1 kg 400 g from 3 kg 

 a. 1 kg 500 g   b. 1 kg 600 g 

 c. 2 kg 400 g   d. 1 kg 700 g 

3. What is 5 kg 800 g − 2 kg 300 g 

 a. 3 kg 400 g   b. 3 kg 500 g 

 c. 4 kg 600 g   d. 2 kg 300 g 

4. What is the sum of 3 kg 250 g and 2 kg 750 g 

 a. 6 kg    b. 5 kg 900 g 

 c. 6 kg 100 g   d. 5 kg 950 g 

5. 7 kg 600 g − 4 kg 200 g is equal to 

 a. 3 kg 300 g   b. 3 kg 400 g 

 c. 4 kg 300 g   d. 2 kg 400 g 

B. Write the Missing Terms to Complete the Sentences: 

1. 2 kg 150 g + 1 kg 850 g =______ 

2. 5 kg 500 g − 3 kg 250 g =______ 

3. 1 kg + 1 kg 500 g =______ 

4. 4 kg − 2 kg 600 g =______ 

5. 3 kg 200 g + 2 kg 800 g =______ 

C. Mark each sentence with a True (✔) or False (✘): 

1. 2 kg 500 g + 2 kg 500 g = 5 kg  ______ 

2. 6 kg − 3 kg = 4 kg    ______ 

3. 1 kg = 1000 g     ______ 
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4. 5 kg 700 g − 2 kg 300 g = 3 kg 400 g ______ 

5. 3 kg 600 g + 1 kg 500 g = 5 kg  ______ 

D. Figure out the answers to these questions: 

1. Add 2 kg 450 g and 3 kg 550 g. Write the final answer. 

2. A sack contains 6 kg 300 g of rice. 2 kg 100 g is used. How much rice is left. 

3. A watermelon weighs 3 kg 750 g and a pumpkin weighs 5 kg 250 g. What is 
their total weight. 

4. Subtract 1 kg 900 g from 4 kg 500 g and write the result. 

5. A bag of sugar weighs 2 kg 850 g. Another weighs 1 kg 950 g. What is the total 
weight. 

E. Challenge yourself with these questions: 

1. A bag of flour weighs 7 kg 200 g. If 2 kg 400 g is used, how much flour is left. 

2. Add 1 kg 500 g and 2 kg 750 g and write the total mass. 

3. A boy bought 3 kg 300 g of apples and 2 kg 700 g of bananas. Find the total 
weight of fruits. 

4. Subtract 4 kg 850 g from 8 kg 500 g. 

5. A box weighs 6 kg 900 g. Another box weighs 3 kg 400 g. Find the total weight. 

 
  


